PacKkpbiTne KBaAapaToB
(X +1)"N2(x+2)+(x—-1)"2(x—-2) =12

(X + 1)"2(x+2)+(x—1)"2(x —2) =12

(XN2+2x+1)(x + 2) + (x"2-2x+1)(x — 2) = 12

XN 2XN 242X 24X+ X+ 2+ XN3-2XN2-2XN2+4x+Xx-2=12
2XN3+10x=12/:2

XN3+5x-6=0

X"3+5x-5-1=0 | 7 |

XN3+5x-5-1+x"2-x"2+x-x=0 \ |
(XN3-XN2)+(5x-5)+(x-1)+(x"2-x)=0

X"N2(x-1)+5(x-1)+(x-1)+x(x-1)=0 COC@,D,H Ne TOHKHU
(X"N2+5+1+x)(x-1)=0

(XN2+6+x)(x-1)=0

XN2+6+x=0 x-1=0 \

D<0 x=1 | ~—C0O \\
KOPHEN HET 1 KBaHT=MUHUMAIbHasA eaMHULA Nepeaayn aHeprum
XN3+5x-6+Xx"N2-xN2+5-5+6x-6x=0 Makc MnaHk
(XN3-X"N2)+(5x-5)+(6x-6)+x" 2+5-6x=0

XN2(x-1)+5(x-1)+6(x-1)+x"2+5-6x=0

(XN2+5+6)(x-1)+x"N2-6x+9-9+5=0

(XN24+5+6)(x-1)+(x-3)"2-9+5=0

XN3+5x-5-1=0
XN3-145x-5=0



